EXA R B R

WAL T O T+30
1T F PF

|
/

/

4

i

Iy

i

|
’

!
/

% Wz FA R
kil u &Tﬂ—l ek
L e
LRER 2

(% &3 3L

3 N x99 67099
]L;f A “goSIN

T
g2 |2
FeAf A i [ 2coshx

X o

i
99 N

xcos™ xdx o (10 &)

cosxdx o (10 » )

FE 2R RRE 2

AR 550820 2 -

I

B

STATRE B R EROTA R ARE L 0 AR TR0 3 PR

2o x4y 422 =3z - (104 )
1
#%ﬂ&ngx *2+f'* +4 duprE o (10 A)
B
ﬁﬁ%hml ? (15 %)

ﬁ%&—ftan *sin (xe’)dy tex=1eniE o (15 4 )

0 WA I;[jsizr]‘l c0S x+/1+ cos? xdx]dy - (15 %)
y

3 5 e p e ]

I ’p&ﬁii ( 1) A

n=2 I’l(ln n)p

e 59 . Fhjar ~ iF Ezac e wAre (154 )





